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Formulae Sheet: Foundation Tier

a  

h 

b 

Volume of prism = (area of cross-section)   length

Area of trapezium =  1 
2 (a + b)h 

length 

cross- 
section 
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1 (a) Write 4028 in words.

 ______________________________________________________________________  [1]

 (b) Write thirty five thousand and four in figures.

 (b) _____________________________  [1]

 (c) Write 6814 correct to

  (i) the nearest ten,

 (c)(i) _____________________________  [1]

  (ii) the nearest thousand.

 (ii) _____________________________  [1]

 (d) In the number 32 745, the 3 has a value of 30 000.

  What is the value of 

  (i) the 4 in the number 32 745,

 (d)(i) _____________________________  [1]

  (ii) the 7 in the number 32 745?

 (ii) _____________________________  [1]

2 (a) What percentage of the diagram has been shaded?

 (a) ___________________________ % [1]

 (b) Shade in one more of the small rectangles.

  What fraction of the diagram has now been shaded altogether?
  Give your answer in its lowest terms.

 (b) _____________________________  [2]

 (c) Write 3
4  as a decimal.

 (c) _____________________________  [1]
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3 

Millimetres Grams Kilometres Centimetres

Kilograms Metres Litres Millilitres

 Which of these metric units is best to use for measuring

 (a) the length of a pen,
 (a) _____________________________  [1]

 (b) the weight of an egg,
 (b) _____________________________  [1]

 (c) the capacity of a small drinking glass,
 (c) _____________________________  [1]

 (d) the distance from Chesterfield to Dover,
 (d) _____________________________  [1]

 (e) the weight of a large bag of potatoes?
 (e) _____________________________  [1]

4 Anya is throwing darts at this target.

 Here are her scores. 9
6

1

8

52

7

4

3

9 3 2 3 6 8 7 2 3 4 9 4 5

 (a) Find the mode.

 (a) _____________________________  [1]

 (b) Describe how you would find the median. (You do not need to work it out.)

 _________________________________________________________________________

 _________________________________________________________________________

 ______________________________________________________________________ [2]
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5 (a) (i) 

   Sally buys two magazines, one costing £1.25 and the other costing £1.99.
   She pays with a £5 note.

   Work out how much change she should get.

 ...........................................................................................................................................

 ...........................................................................................................................................

 (a)(i) £ _____________________________  [2]

  (ii) Sally likes reading Romance books.
   They cost £1.45 each.

   Work out the largest number of Romance books that she could buy for £10.

 ...........................................................................................................................................

 ...........................................................................................................................................

 (ii) _____________________________  [2]

 (b) 

BOOKS & CO

  On Wednesdays, Mr Green can get 10% discount at the bookshop.

  Work out how much discount he should get if he bought a book priced at £12.00.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (b) £ _____________________________  [2]
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6 (a) Measure the line GH. 
  

G H

 (a) __________________________ cm [1]

 (b) Draw a circle, radius 3 cm.
  Mark, with a cross, a point on the circumference of the circle. [2]

 (c) Draw and label an angle of 37°. [2]

 (d) Draw in all the lines of symmetry of this shape.

 [2]
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7 Here is a number machine.

x 2INPUT OUTPUT– 3

 (a) (i) Work out the output when the input is 2.

 ...........................................................................................................................................

 (a)(i) _____________________________  [1]

  (ii) Work out the output when the input is –4.

 ...........................................................................................................................................

 (ii) _____________________________  [1]

  (iii) Work out the input when the output is 5.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (iii) _____________________________  [2]

 (b) Complete these number machines.

x 23 10

3 10x 2
 [2]
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8 (a) Simplify. 

  (i) y + 6y + 2y

 ...........................................................................................................................................

 (a)(i) _____________________________  [1]

  (ii) 5x – 2x + 4x

 ...........................................................................................................................................

 (ii) _____________________________  [1]

 (b) When f = 2 and g = 5, work out the value of

    3f + 2g.

 ...................................................................................................................................................

 (b) _____________________________  [2]

 (c) (i) Write an expression for the total cost, in pence, of x pencils costing 40p each.

 (c)(i) _____________________________  [1]

  (ii) Jayne has y pens. She buys 12 more.

   Write an expression for the total number of pens she has now.

 (ii) _____________________________  [1]

9 (a) Find the value of 2.25 .
 (a) _____________________________  [1]

 (b) Change 
17
100

 into a decimal.
 (b) _____________________________  [1]

 (c) Work out 3
5

 of 145.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (c) _____________________________  [2]

 (d) Work out 29% of £4.35.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (d) £ _____________________________  [3]
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10 Ravi did a survey of the types of vehicles that travel on the road outside his house.
 Altogether, 180 vehicles passed in the time that he was watching.
 The pie chart represents the results.

Cars

72°

48°
Buses

NOT TO
SCALE

LorriesMotorbikes

 (a) What fraction of the vehicles were Lorries?

 (a) _____________________________  [1]

 (b) Work out the size of the angle for Cars.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (b) ____________________________ ° [2]

 (c) (i) How many of the 180 vehicles were Buses?

 ...........................................................................................................................................

 (c)(i) _____________________________  [1]

  (ii) Work out the probability that one of these vehicles, chosen at random, is a Bus.

 ...........................................................................................................................................

 (ii) _____________________________  [1]



10

© OCR 2009

11 The distance / time graph represents Andrew’s bike journey when he visited his Aunt.

7

6

A

B

C D

E

5

4

3

2

1

0
0 10 20 30 40 50 60

Time (minutes)

Distance from
Andrewʼs home

(kilometres)

70 80 90 100 110 120

 (a) How long did Andrew stay at his Aunt’s house?

 (a) _________________________ mins [1]

 (b) Andrew was travelling fastest between points A and B. 

  Explain how you can tell this from your graph.

 _________________________________________________________________________

 ______________________________________________________________________  [1]

 (c) Explain what happened at B.

 _________________________________________________________________________

 ______________________________________________________________________  [1]

 (d) Explain what happened at E.

 _________________________________________________________________________

 ______________________________________________________________________  [1]

 (e) Work out the total distance that Andrew travelled.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (e) __________________________ km [1]
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12 (a) The smaller rectangle is 7cm long and 3 cm wide.
  The larger rectangle is an enlargement of the smaller one using scale factor 3.

  Write down the length and width of the larger rectangle.

3cm

7cm

NOT TO
SCALE

____ cm

____ cm
 [2]

 (b) Winston thinks: “In this diagram, x + y = z.”

y

x z

NOT TO
SCALE

  Here is another diagram.

72°

37°
r

t

NOT TO
SCALE

  (i) Work out the size of angle t.

 ...........................................................................................................................................

 (b)(i) ____________________________ ° [1]

  (ii) Work out the size of angle r.

 ...........................................................................................................................................

 (ii) ____________________________ ° [1]

  (iii) Use your answer to part (ii) to see if Winston is right or wrong.

 _____________________________________________________________________

 __________________________________________________________________  [2]
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13 (a) Sophie hires a mini digger to landscape her garden.
  It costs £75.50 for the first day and £52.50 for each day after that.
  Sophie pays £285.50 altogether.

  For how many days does she hire the mini digger?

 ...................................................................................................................................................

 ...................................................................................................................................................

 (a) _________________________ days [3]

 (b) Tony won £800 in a competition.

  He gave 1
4

 of it to his wife, 1
5

 of it to his daughter and kept the rest.

  What fraction of the £800 did he keep for himself?

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 (b) _____________________________  [4]

14 Josh painted his bedroom.

 Complete his paint bill by working out the three missing values.

 ..........................................................................................................................................................

 ..........................................................................................................................................................

 ..........................................................................................................................................................

 ..........................................................................................................................................................

Paint Bill

3 tins silk emulsion @ £17.99 per tin £______________

_______ tins gloss @ £11.99 per tin £______________

Total cost £  77.95

 [4]
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15 15 women each changed a car wheel.
 These are the times taken, in minutes.

22 15 13 17 22

8 16 21 7 10

12 33 9 18 22

 (a) Draw an ordered stem and leaf diagram to show these times.

 ................................................................

 ................................................................

 ................................................................

 ................................................................

 ................................................................

 ................................................................

 Key:   [3]

 (b) Work out the median and range of these times.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (b) Median =  ________________________  minutes

 Range  =  ______________________minutes [2]

  15 men each changed a car wheel. 
  The median time taken by these men was 16 minutes.
  The range of their times was 33 minutes.

 (c) Write down one comparison between the times taken by these men and women.

 _________________________________________________________________________

 ______________________________________________________________________  [1]
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16 (a) The n th term of a sequence is n 2 + 2.

  Write down the first three terms of this sequence.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (a) _________ , _________ , _________  [2]

 (b) Another sequence begins

7, 11, 15, 19, ………

  Write down the n th term of this sequence.

 ...................................................................................................................................................

 ...................................................................................................................................................

 (b) _____________________________  [2]

17 (a) Find the sizes of angle a and angle b.
  Write down a reason for each answer.

67°
NOT TO SCALE

142°

a

b

a =  ____________° Reason __________________________________________________

b =  ____________° Reason _______________________________________________  [4]
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 (b) (i) The sum of the interior angles of a regular pentagon is 540°.

   Without measuring any angles, explain why this is true.

 _____________________________  

 _____________________________

 _____________________________

 _____________________________

 _____________________________
 [3]

  (ii) This is an irregular pentagon.

138°

115°

40°

NOT TO SCALE
c

   Work out angle c.

 ...........................................................................................................................................

 ...........................................................................................................................................

 (b)(ii) ____________________________ ° [2]

  (iii) The area of another pentagon is 4.5 cm2.

   Change 4.5 cm2 into mm2.

 ...........................................................................................................................................

 ...........................................................................................................................................

 (iii) _________________________ mm2 [2]

TURN OVER FOR QUESTION 18
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18 Simplify.

 (a) t 2 × t 7

 ...................................................................................................................................................

 (a) _____________________________  [1]

 (b) 
p

p

6

2

 ...................................................................................................................................................

 (b) _____________________________  [1]
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